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2. AguAo gyols TahAle.

>
> HE 142cm?

o]) =3 x5 =15(cm?)
°]) = (54+3+5+3) x 7= 112(cm?)
°]) =15 x 2+ 112 = 142( cm?)
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20 cm?

B R A%l (F2)x (Al

(BHol)x (¥°l)°lH,
2)x (¥°]) 9 Axtatt 25y

weba] 7GR0 = 7EE 570, A& 270, wol 270, &
5x2x2=20071) ¥4yt
A7 1709 B 7 1x1x1 = Lem?® 0| B= 207]9] Fuj=




4. tg AgUAe B1E AL,

\
1llcm

’ ,-1’1cm

(F1)=11x 11 x 11 = 1331(cm?)




5. the ARWAY HuE FohAL.

(AEHA 9] Hal) = (7F=2) x (A=) x (F°])
=13 x 13 % 13 = 2197( cm?)




0.5x 0.8 % 0.2 = 0.08( m?)
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(B2 159 E°])=10x 10 x 10 = 1000( cm?)
1m = 100cm °|22

(2 252] =°])= 100 x 100 x 100

= 1000000( cm?)

1000000 + 1000 = 1000()
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8. 7lotu % ARG BT A5 AE FolAlS.

Yo

Py

7} =

>
> =e 137

7} A7 4 x4 x 2 = 32(7H),

o] B7IURE 3x3x 5 = 45(7)0]|B2&2
Ho7t & £ vy

whbA] Y- 7= 45 - 32 = 13(7]) ¥4 ot
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(FE0] o] H1]) =30 x 40 x 12 = 14400( m?)

14400 + 24 = 600
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@ wAE 2] Zol7 1 em ) B4 phe} & mAEle] 2o]7}6em

AEEA L7t AU 1 FSEA] R oE b P A 2]
e RIREL

> E. il

> " 2168

Ph: 1x1x1=1(cm?)
(Lh: 6x6x6=216(cm?)
216+ 1 = 216( )
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2 ASHA B3 5x5x5 = 125(cm?)
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2m- 1m 50cm
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> E:
[DESI= Q)

~&B

(@9 Bo])=2x2x2 = 8(m?)

©9] do] A9E m T = 1Yt
Im50cm =1.5m , 1m 90cm = 1.9m
(©9] B1])=15%x2x 1.9 =5.7(m3)
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13. ohg AR AAEE B1, LAY

7cm.
~ |Bcem
: : | \
I | : 9cm
: : | ,/
@ 416 cm? @ 358 cm? 3)318 cm?
@ 296 cm? ® 252cm?

~&B

PRIV T+64+7+6=
(A5aAI2] ZHel)=(

=84 + 234
= 318(cm?)

A8 aA AAzeNA GEel 2 AAzge

26(cm) ©]1!, 2= 9emYYrh

Bgol)x+ (4

=(Tx6)x2+ (7T+6+7+6)%x9
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>
> =g 10cm

B

B9 Eo]: 1.5(L)x2=3(L)
3L = 3000 cm®

2] o] : []

10x 30 x[_|= 3000

[ ]=3000+300

D = 10(cm)
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30
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2m75¢m

o
=
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Z A=A

2m75cm= 275cm, 4 m= 400 cm, 3 m= 300 cm
(7F=2) : 275+ 30 = 9.1666 --- — 9 7

(M=) : 400 + 30 = 13.33333--- — 13 7l
(3°]) : 300 +30 =10 — 10 7

1= 7122 97, N22 13712

9% 13 = 117N 7] & 4= A,

BT 10 37HA B 4 JeBE E1E

9x13x 10 =1170(7R) ¥= 4 UFY.




16.

>
> HE: 1200cm?®

B ~
AgAA 9] Lol [ Jem 2 51
(A&HA 0] FHol)=(LHlol)x2+(FHol)
680 = (10X 10) X 2 + (10 + 10 + 10 + 10) x[_|
680 =100 x 2 + 40 x| ]
680 = 200 + 40 x| |
40 %[ ] =680-200
40 x[_]=1480

[ ]=480+40 = 12(cm)
=0]7} 12¢cm | B2
(A-SHA 9] )= 10 x 10 x 12 = 1200( cm?)
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Sk Aol = 9] o] }4scm°1 AEHA BoFo] EXo] Eo] 108L
A

Ed9 dol7} 48cmQl HSHA gt mA| O] Hol=48+4 =
12(cm) YYtt.

1L = 1000 cm?® ©] 2.2 10.8 L = 10800 cm?® Y Yt}

Aol 12x12 = 144 cm? O|B& B9] o]l 10800 + 144 =
75(cm) YUY
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ASAANA (BHel) = (3& ] gol) x
utebA oF R o] ol 726 + 6 = 121(c 2)
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4x4=16(cm?)
(44+4+4+4)x6=096(cm?)
) =16 x 2 + 96 = 128( cm?)

A A-sHA

0o 0 o &

)

) =(5+3+5+3)x5=_80(cm?)
) =15x2+ 80 = 110( cm?)
whebA] Ay o]9] AH= 128 - 110 = 18( cm?)
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(14 x 14) X 6 = 1176( cm?)
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